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%5 : 11:00 d 12:30 HIEYH . ‘FI'{'IB°I
TR T : 150 TYH HINT F 0T )

TAUSeRT WIETrvaTge Hudn Wieltel GomT hi g are

(1) =1 yeubehd g faumm omgd. gl faumm 1 9= vem s fawamendt 1a 25 9 faum I 9= wifvrg
Tt 26 9 75 3T TRV 75 YA STRA. HA Y WESAU AEwIh IR,

(2) 9 JIAEIS! 2 T SR,

(3)  weateR Arsfavamardt v 90 ffiemn s foom S

(4) I Acfavamardt Tads erufent foeiell MR, Tcish TeTshAThEER IR FHia@ndl shamTd ade feeiel amed.
AT ST[eh ITUET TATT SHHTh ITHA Iqed Jeid IETEINA GRATIeATIHI Tra.
3E1. T 3. 6 AT SUSK IATT T 3. 2 ITHW, X Al GEIATH igara.
wH 6 D@ODP

(5) wrcfieymT Figfacie 3T IRl eRuATd JUR ATEI. 3TH IT AGiHednd o YA S o fo .

SIONY

(6) TeAIRRd HATA 20% IHT=AT FTEdd Scal<dl IR JAETIeh! S T 3Teh ST, o alal qai igraor
TITHRE 3. ERE! AT YA I Had g T<eh Uatd et il g=1 feoel! o1,

(7) ‘o orge vata faet onft gEa fooien yereafaled s Teis et Tha AAfieh aderd Aiaeeet
IR I WISTEIE He Aigfaciel! ek JTel TRUATd AUTR TR

(8) Uehal iefaeielt ST Y81 Seerdl U TEH.

(9) uATETE ST AT B hileodT Tehall FHeeam T Sicrd-=T a1 shadl. Uil Aigfaciel! Scal UTel
AT JUTR ATEN.

(10) YTubrehd Jcdeh UMTeR WTeAl  AGe<AT YT e shiH HITATHTS! Hished! ST 31T2, A9 el o i,

(11) wlem waifeq ded THeaH U@l S ek Grerall 3 8ca™ Jeid Yo digal. Jadl 9e e
TfgeT e YEAETST JgT Y himET.

(12) T@ETE YT oI /9 SMeBeATE ATEmed qadersh fhal Tl shad=eieh Jrearhe fa=mon & T,

(13) ATt /< / snameeae fae wmes fohan urerehit Mefderunfesr fohan fremonferenttt areamere ot
TEITT 7 IISad Hafd M=l At HYd AaTe Tgd e dieam.

(14) I /< /SnETETaa Faed ST Ugda qrafavar gaa wiien qivesan Gehaedesrat Jafa (qreqed)
JearaEt gy e 10 (T81) famia v

(15) Tguer feham 31=1 SHRUMYeS UvH Fehl ST TEBeATH a3l T STTTIRIHR A off SrIaTe heft et

(16) ¥e5 HIEAHTEIS SUSH AN JeAd0ehT foeicll 3118, Heb AT Higtd SeTaed susi Yo qgrad.
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01.

02.

03.

04.

0s.

faam - 1
TSt

‘fUgehell @RS o= DWEET qodqe Tl AT ARG TAedT  fshaATaRNoT
I YR ITeaEl.

(1) Ofqaress (2) HIAAEH
(3) TITATEh (4) uiETEES
I THRER fowma qm o ?

(1) geft (2) weft

3) geft (4) Hefl
geletaehl gfeerfl 9™ <hivrd ?

(1) Taed (2) ErEH
(3) drehed! (4) HaB!

‘FfYE 3k Ofgd UMl (W Ud hdll. AT JTdId TTRRgd s
Rvedt  3Tieswn.

(1) (2) gferdtn
(3) T (4) =gt

qeictiehl  TusEme’ 3ieaE.

(1) Ultepran (o= Y@ a=aH mdt Ay foe.

(2) Tt fogeHeRa T ST, I AUt VRIS STl HUd 37TR.
(3) < HEE AET MBI AR I AT WL IR,

(4) wlenm wrelt; TEUHE Hell gl fHesred.

THeedT HIHTHTS! Wdkd
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06.

07.

08.

09.

10.

el qEEy |l U W& W fEel. (s 3T aF W )

(1) &H (2) @
(3) oreH 4) HH

qeictuehl  fdadamelee arw SfiesE.
(1) wfiar Jreefild Uhd 319,

(2) A FAMT I AEG Il
(3) o HATGHME U hal IR,

(4) TSUIET JEEUIEE A AR T HBE.

‘FUEUITEE AT HHIEE  Iecr=l GHTE  hIvMd] ?
(1) FRivE (2) dcgeN
(3) g (4) A

el gehien wat faae.

(1) It o HUeam=l 8 d - ST

(2) SRR o w3 d - 3UHH

(3) =M SRl GRS e, o i war - sw
(4) IO ¥ WU IGAEE AR HY GUH - Icdem

JEictiehl Ul TN 9 3.
(3rh I qW v fHere.)

(1) go SMe=al BeMeR W,

(2) ST AT AMATS AW grEEd.
(3) AT qERHElA HIleThl dTEal.
(4) ATl e I HWRATST izl

THeedT HIHTHTS! Wdkd

0111-Marathi Set-A 3 0f32

P.T.O.



1. ‘\E A’ el | gE Aig Wi’ W Al Hivlt ed Aed ?

(1) &d SHemg ) wa Fe

(3) ®d ML (4) Ha TS
12. gEaushl 3fqu wa It foifecien weaemg e

(1) g (2) B

(3) (4) dBuTfl

T 13 ° 15 |mel guA -

@elld  Hiddl hIGsah e A UG foaReledn JH=T I W

ERIRIGCERCEECN
Tl g e s=ar oA
3 WUl SForoier 3Uedl S !

el d HYSRM Fec HIawl .

FHehURIae-] dled T2k 81 3
Fel HIE hil, oo oo geAm.

SRR T9AM  3TTesard]  ERUiTAl

U TEi=ar TSl Uil HicHT= |l

FHUMERUGA BT HEET AT goed
Uk Wa gEHT WA YU T,

A TEIE & T fera
IR g g YAl Eied.

THeedT HIHTHTS! Wdkd
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13.

14.

15.

FHiqddicdd JUHER foma 99T hiordr ?
(1) HSHIRQT GEUT - [

(2) PordEdt FS OTAURT - Y
(3) TR UHRN sREE HOm - f9ues
(4) o ST - g

(AfGaE TR THI iV HLd 377 ?
(1) w&ar (2) Tt
(3) oW (4) TSN

IO hiadd <RIVl AT Iec ATAT T8 7
(1) 3R (2) BW
(3) 94 (4) HaA

9T 16 o 18 | EAT -

e gaTd dredEl Uiese YUl geamel A gt e .

IEEH —-——-—-- U8 hidel.

(1) wred (2) ITAHIB!

(3) HM A&ETE (4) BE AN
e T i oo

(1) g@EEen (2) TATACA T
(3) AHEH ATE AN (4) AW H&E ANTAT

THeedT HIHTHTS! Wdkd
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18.

19.

20.

21.

22.

Fdrel SURET Feel g UTEd WEAH T - ——— - HEd ohall
(1) & 2) Wi
(3) wifdsh (4) wEH

St Segren A gEEefi weg fHaEr.

¢ ’

HEAT
(1) -<Teha (2) R
(3) (4) S

Eiadehl it el fovgreff wegl @Y (3w aW wE fasEl)

(1) @ x 3G (2) 9@ x quid:
(3) Few x fowga @) wEgE x T

qe focican wegmed wgw fohdt 3gu we amRd?
(T, iomgs, wiFded, daw, Fofd, 5w, 9)
(1) M 2) =
(3) 4) =

‘A T iU A A AATET AR AR Mo TR el
(1) ¥= wh (2) oFadar fEm
(3) TASSHRCA (4) "= U@

THeedT HIHTHTS! Wdkd
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23. OOUER 9 o 31 U= S faedm oMEd, ekl SEiW Sen iy

e,

(1) %3 FU - & 30

2) & ¥ H@ SEU - A H
(3) et s o - e aeEa e
(4) TEER HBW AN - fecHrg 9w

24. YEIA AR FAEAAT AGIET TR B0 ol A 379 oy et

(1) &t FEufffy e,

(2) FIIRER IEOEU A TE.

(3) YA WR J W, e gd L.
(4) o QN oo fowa .

25. YRIAUh Hg U IO ?
(D = 2 9

~

G 2 “4) =%
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26.

27.

28.

29.

30.

SECTION - II

MATHEMATICS
Factors of a polynomial are (x — 7) (x — 8). Find the polynomial.
(1) x2 + 15x + 56 (2) x2 + 15x — 56
(3) x% — 15x + 56 (4) x* — 15x — 56

Reena had some flowers. She prepared garlands from them. When she made
every garland of 12 flowers, she was left with 11 flowers. If she had used 16
flowers for each garland then she would have left with 15 flowers. If she had
used 18 flowers for each garland then she would have left with 17 flowers.
Find the minimum number of flowers that she may have.

(1) 161 (2) 155

(3) 143 (4) 145

The sides forming right angle of a right angled triangle are 7 cm and 24 cm.
Find the radius of the circumcircle of the triangle.

(1) 25.0 cm (2) 12.5 cm
(3) 12 cm (4) 13,5 cm

Every year the population of a town decreases by 5% due to migration of the
people. In the year 2022 the population was 9025. Find the population of the
town in the year 20207?

(1) 10,000 (2) 11,000
(3) 11,025 4) 10,250

The denominator of a fraction is greater than its numerator by 6. If the
numerator is decreased by 1 and the denominator is increased by 9, then the

new fraction is equivalent with % Find the original fraction.

1 3 @ 3%
3 13 @ &

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

30.

fawmr - 11
TfoTa
THl dfots W Aa¥d (x—7) (x—8) 3R WXt WM I ?
(1) x% + 15x + 56 (2) x% + 15x — 56
(3) x% - 15x + 56 (4) x* — 15x — 56

{AThe PE Pol ATed. fad Tl 12 PaATAT HIST AR shedl d faeATehe
11 B AWM. S YAhl 16 HA=AT HBT TR hedld 15 Pol KA.
SR Ycdeh! 18 HATAT WISl TR ohedl @ 17 Bl A R fdedmehs  HHI
& Thdl P A ?

1) 161 2) 155

3) 143 4) 145

T HIChH RO HleshH HOMAT droet aet 7 FH 9 24 T 3@ @
a1 B afeder Brear fohdt?

(1) 25.0 @t (2) 12.5 @

(3) 12 @+t (4) 13.5 @i

TS UHl AR dihuen @l 5% @ #H B R, 2022 @l
J] TMERN AREE 9025 A G 2020 T AT METET AlhaEdr fohdt gidl?

(1) 10000 (2) 11000
(3) 11025 4) 10250

TH AYUIRET B¢ LA 6 4 HST M. SK M | 4 HH Hhal I g
9 I drgaen W AlHE fhud L8R, W B AQNE HuowEr?

M 3 @ 2%
® 15 @ 7
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31.

32.

33.

34.

3S.

Solve. (Select two correct options)

3x+2 2, x+1
6 T3 T2 T

(D % (2) 25
3) 3.5 @ 35

If an article is sold for Rs. 150, certain loss is incurred. But if the article is
sold for Rs. 275, the profit is one and half times the loss. Find the original
price of the article.

(1) 225 (2) 250
(3) 175 (4) 200
) . 2% + 7x + 6
Simplify -
plify x2 — 13x — 30

2x+3 2x—3
D =15 2) ¥F15

2x—3 2x+3
3) T3 @ YF15

b

To complete a job, ‘A’ requires 12 days. For the same job, ‘B’ requires 20
days to complete the job. Both of them worked together for 3 days and then A
left the job. To complete the remaining job, how many days ‘B’ will require?

(1) 18 2) 15
(3) 12 4) 10

9

Mrs. Desai purchased 30 tables. Out of that she sold 25 tables and received the
same amount which she had spent to purchase 30 tables. Find the percentage
of profit or loss in this transaction.

(1) 25% profit (2) 20% profit
(3) 20% loss (4) 25% loss

SPACE FOR ROUGH WORK
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31.

32.

33.

34.

3S.

Tred.

3x;2+%i+x;1:5 (TF 3 g faEr)
0 % 2) 25
(3) 3.5 @ 353

Th T 150 T foeRelt AT SiE@l diel Bial el dieue AW awq
275 A fohed™ Bl W GG HB fohHd fohdl &9 ?

(1) 225 (2) 250
(3) 175 (4) 200
WSEY =T,
2x2 + 7x + 6
x2 — 13x — 30
2x+3 2x—3
D =15 2) XF15
2x—3 2x+3
) 2 @ YF15

Th HME T ROIEET A @ 12 g @mad ® B @ 20 fdew @rma.
qEr fied 3 %M 3 fa@ heaek A ®M digd Mg 9, | Ufged
HM U HoIEEl B @ fRdl fgew @i ?

(1) 18 ) 15
(3) 12 4) 10

ot <EE aF S fhAdia 30 oW Wi ohal. dacie fREd el 25
o fagpd Tesaehl. @ o1 =w@gRa &1 Skel %1 fhar drer feRdt smen?
(1) 25% <& (2) 20% -T®

(3) 20% dre (4) 25% dqra

THeedT HIHTHTS! Wdkd
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36.

37.

38.

39.

40.

41.

3* = 27Y = 92 = 729. Find the value of (xyz)%.

(1) 36 (2) 216

3) 6 4 11

Which of the following polynomial has the co-efficient form (2, 0, 0, 0, 0, —5)?
(1) 2x* -5 2) 220 -5

3) 2x° -5 4 x> -5

A ditch 20m. long 10m. wide and 5m. deep was dug and soil was spread
evenly over a ground that was 25m. long and 20m. wide. What was the
thickness of the soil spread? (Choose two correct options)

(1) 20decimeter (2) 20cm.
3) 2.0m. (4) 20m.

The diameter of a ball is 20 cm. Find the volume of the air in the ball.
(m = 3.14)

(1) 41866.7 cubic cm. (2) 4186.67 sq. cm.

(3) 418.67 cm?. (4) 4186.67 cubic cm.

The price of a washing machine is Rs. <5+x>. Find the price of <g—5)

6
washing machines. 4 4

o (53 o (53
® (545 @ (23

A car travelled the distance 38 km, 27 km, 40 km, 35 km in the first four
hours respectively. How much distance the car should travel in the fifth hour,
so that the average speed of the car will be 35 km/hr?

(1) 25 km (2) 40 km
(3) 45 km (4) 35 km

SPACE FOR ROUGH WORK
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36.

37.

38.

39.

40.

41.

3
2

3% =27V =92 =729 R (xyz)2 = 7

(1) 36 (2) 216

(3) 6 4) 11

(2, 0, 0, 0, 0, —5) B FFORF &9 A GIG! IV ?
(1) 2x* -5 2) 2x0 -5

3) 2x° -5 4 x> -5

TH A 20, x [0, x SHI. W@ @SS WUAER A Hewiel A
251, A 9 20, ¥ HEMOR UHHE! UHiEel ¥ foRdt SERm AT oR
R BEA? (S Irh v feern)

(1) 20 Sfafex (2) 20 =,

(3) 2.0 #Hi&X (4) 20 HIX

Tl dgAT ™ 20 H AR W M ATCAT gAd  UAHS  fohdl?
(m = 3.14 =)

(1) 41866.7 =@t (2) 4186.67 =a

(3) 418.67 o3 (4) 4186.67 =@

0 (553 @ (55+3)
® (335 @ (333

TSl dEAH Ufgedl IR amra ogshH 38 TR, 27 R, 40 fRt @ 35
forft 3T wUd. eI dEId feRdl A HUA W OAEAET SUEE 9T 35

ol /am BIgA ?
(1) 25 fedt (2) 40 ferdt
(3) 45 Tt (4) 35 fedt

THeedT HIHTHTS! Wdkd
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Directions for Question 42 and 43.
In the following ‘Percentage Bar Diagram’ the percentage of expenditure and
savings of Shri Tushar is shown. Observe the graph and answer the questions

that follow.

SPACE FOR ROUGH WORK
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U 42 F 43 9rdt guAr -

fi. QX I @@= 9 FEdE TH IAHH TAEeE dad ofg. e e

HE] Y Giedl.

HeHT HIHTHTS! Word
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42.

43.

44.

45.

46.

Shri. Tushar’s income in the month of February was Rs. 40,500. Find his
savings in that month.

(1) 12,150 (2) 28,350
3) 12,500 (4) 28,000

b

Find the ratio of savings to expenses for the month of ‘May’.
(1) 17:3 2) 5:17

3) 17:5 4 3:17

Laxmanrao purchased shares worth Rs. 10,500 and paid 0.5% brokerage. Find
the amount spent to purchase the shares including brokerage.

(1) 15,052.50 (2) 52.50

(3) 10,552.50 (4) 1,044.50

Choose the correct alternative in which all the pairs are matched correctly.

A) 2 —17y-60 a. (y—-12)(y-5)
B) 12—17y+60 b. (y+20)(y—3)
C) »+17y-60 c. (y=20)(y+3)
D) y2+17y+60 d. (+12)(y+5)
(1) A-c, B-d, C-a, D-b (2) A-c, B-a, C-b, D-d
(3) A-a, B-c, C-d, D-b (4) A-d, B-b, C-a, D-c

The inner surface of a cylindrical well of height 14m and radius 250 cm is to
be plastered with cement-sand layer. At the rate of Rs. 100 per square meter,
what will be the total cost in rupees?

(1) 22,000 (2) 22,00,000
(3) 2,20,000 4) 220

SPACE FOR ROUGH WORK
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42.

43.

44.

45.

46.

i, gUR TN B wigm= ofE® & 40500 M@ W T Ul §9d
foret w7

(1) 12,150 (2) 28,350
(3) 12,500 (4) 28,000
T ol sEde @it e TR foRd ?
(1) 17:3 (2) 5:17
(3) 17:5 4) 3:17

AEAUE 10,500 T WSAE fowd gad @eR 0.5% <l feefl, ™
TATelidg SeTEt Wid fhma fodt waa7

(1) 15052.50 (2) 52.50

(3) 10552.50 (4) 1044.50

IRl T Sl I WU W FHast

A) 32 - 17y — 60 a. (y-12) (v - 5

q) 2 — 17y + 60 b. (v + 20) (y — 3)

*®) y2 + 17y — 60 c. (y—-20(+3)

g) 2+ 17y + 60 d @+ 12) (y +5)

(1) #HA-c, d-d, h-a, S-b (2) #HA-c, d-a, h-b, S-d,
(3) 3H-a, d-c, &-d, S-b (4) HA-d, d¥-b, $-a, S-c

T demaer fafeleh @it 14 fiw 3 e 250 Tt o, fafeden omdia
gUTTE  fie-atear v devEEd! @ 9Rd Wewnm 100 ¥ GO TR
Te fodt w3 FHar

(1) 22,000 (2) 22,00,000

(3) 2,20,000 4) 220

THeedT HIHTHTS! Wdkd
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47.

48.

49.

50.

A shopkeeper sold two articles with marked price Rs. 1900 to A and B. He
sold one article to A by giving discount of Rs. 171 and sold another article
to B by giving discount of Rs. 152. How much was the difference between
the percentage of discount given to A and B?

(1) 0.5 2) 19 3) 1 4) 0.1

In the adjoining figure £y = 90°, I(xy) = 8m. l(yz) = 15m, WM L XZ,
WM = 6m. Find the area of the figure.

w 1y 171
() 111
X
M (3) 162
4) 222
gm
y L Z

15m

Two lines are intersecting each other. The measures of the vertically opposite
angles in a pair are (2x + 65)° and (7x — 10)°. Find the measures of each
remaining angle.

(1) 95° 2) 85° (3) 75° 4) 105°

AC 1is the diameter of a circle. ‘B’ is any point on the circle. Find the false
statement from the following. (Choose two correct options)

(1) «£BCA < 90°

(2) ABCA is an acute angled triangle
(3) «Z£CAB > 90°

(4) Measurement of the arc ABC = 180°

SPACE FOR ROUGH WORK
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47.

48.

49.

50.

THFGRH 1900 ¥ DA FhAA STEUTAT G o fohdMl A Sl 171
¥ 9 B wEden 152 ¥ g feell @ e fooen geAed  gHHGRH

fopct coFhal W AT ?
1) 0.5 @) 19 3) 1 @) 0.1

gieaear hdd Y = 90°, [(XY) = 8#., [(YZ) = 15#., WM L XZ,
WM = 6Hl. @ 3Tk ool yEe™ &9k fhdt =il Aga?
W

1y 171

@ 111

X o 3) 162

. @) 222
yU z

154,

A T TEHET VA degl qdaR BT faggy @EMET "W (2 + 65)°
afor (7x — 10)° ARd @ Iiedl HARN AM Jdh! fohdl 79 @il ?

(1) 95° 2) 85° (3) 75° 4) 105°

TH IgBET @™ AC AR 9 fag ‘B’ ¥ dg@Eid ARl Th f60g 3R
W Gl gehre fagm ®va? (9 o= e fHasn)
(1) ZBCA < 90°

(2) ABCA agsH fBepivr 17,
(3) ZCAB > 90°

(4) %° ABC = TMU 180° =TR.

THeedT HIHTHTS! Wdkd
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51.

52.

53.

54.

5S.

56.

Two rectangular grounds have area 1541 sq. m. and 759 sq. m. respectively.
If both the grounds have same breadth, find the breadth of the ground.

(1) 33 m. (2) 69 m.
(3) 23 m. (4) 67 m.

If (17 x 19 x 4) + m = 161.5 then find the value of ‘m’.
(1) 0.6 2) 70
3) 0.8 4) 8.0

Find the value of 992%
(1) 31.05 2) 315
3) 3125 4) 325

Which of the following is an irrational number?

22
(1) 3.14 2) =

3 = (4) 3.142857
Where is the ortho centre of a right angled triangle located?

(1) In the interior of the triangle. (2) On the vertex of the right angle.

(3) In the exterior of the triangle. (4) Anywhere on the triangle.

Four numbers p, q, r and s are in proportion. Then find the correct statement
from the following. (Choose two correct options)

1 P-1 @ 9=1
(3) pq =18 (4) sp = qr

SPACE FOR ROUGH WORK
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S1.

52.

53.

54.

5S.

56.

TAH %4 Al GF ANAIRR HEHTEl &9k gH 1541 =l § 759
A omRd W BeETER v fRdT?

(1) 334 (2) 69,

(3) 23 4) 67

(17 x 19 x 4) +m = 161.5 ®W m = ?

(1) 0.6 2) 7.0

(3) 0.8 4) 8.0

Joork = 7

(1) 31.05 (2) 31.5

(3) 31.25 4) 32.5

Uietiehl i T whivrd ?

1) 3.14 @ %

B) w (4) 3.142857
FEhH HepomHe RilceEdd foge oW $ie 3Hd?

(1) Fepom=an ravima (2) HEHE HOMAT RRTerGaR
(3) Tepom=a STRIMETG (4) TeRomeR wreg

P, q I, s AT IRE TEAT YHATNG AMed @« Wieliedshl e faam  siiean.
(o7h W= g W faEr)

1y B-1 @ =7
(3) pq =18 (4) sp = qr

THeedT HIHTHTS! Wdkd
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57.

58.

59.

60.

‘x> years hence, Mariya’s age will be ‘)’ years. Then find her age 10 years
before.

(1) y-x+10 2 y-x-10
3) y+x+10 4 y+x-10

Find the value of 31.25%.

RS @ i
B) =% @ 12

In the adjoining figure LTPQ = ZTPR. Side PQ = side PR. Then by which
test AQPT and ARPT are congruent?

p
[ORNe]
T
Q R
(1) S-A-S (2) S-S-S
(3) A-S-A (4) S-A-A

The measure of an angle is % times the measure of its supplementary angle.
Find the measure of its complementary angle.

(1) 30° (2) 90°
(3) 150° (4) 60°

SPACE FOR ROUGH WORK
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57.

58.

59.

60.

x AR AREE 99 y 98 gsd. @ fo= 10 auigete a9 fehdt a¥ gd?

(1) y—x+ 10 2) y—x— 10
3) y+x+10 4 y+x-10
31.25% = TeRdl?

1) T @ 1

B) 1% @ %

Hierd=q1 3Tehdld L TPQ = /TPR ; ® PQ = & PR @ AQPT d ARPT
7 A T S HERIJAR UHed 3778 ?

p
OO
T
Q R
(1) ehre (2) aTaTE
(3) hIeTh! (4) @RI

TH HHEE HY AT JEhehHT=T AT % e B W AT kA=Al
HIfdhAT A9 fehdt?

(1) 30° 2) 90°
(3) 150° 4) 60°
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61. A school had arranged a trip and started on Saturday at 6.30 a.m. They returned
the next day on Sunday, at 8.15 p.m. Duration of the trip was for how many

hours?
1 25i hours 2 37i hours
4 4
3) 37% hours (4) 47 hours 45 minutes

62. A square piece of paper having length 8 cm. is taken, squares of size 1cm x 1cm
are cut at its four corner places. Find the difference between the perimeters
of the original paper and the paper which is cut at its corner places in cms.

() 0 2) 8
3) 1 4) 4

63. Observe the following figure and select the correct statements.

B

A

(A) Line AB and line BA are different lines.

(B) Line AB and line DC intersect at ‘O’.

(C) Point C, O and B are non-collinear points.

(1) ‘A’ and ‘B’ are correct. (2) ‘B’ and ‘C’ are correct.

(3) ‘A’, ‘B’ and ‘C’ are correct. (4) ‘A’ and ‘C’ are correct.

SPACE FOR ROUGH WORK
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61.

62.

63.

TH WS HEA WHAW "eAeqd 6:30 atar fEreft ff gE=n feenft teErd
HeARIK §:15 aTSldl WA e, @ HEW UHU fohd! amr=l el ?

(1) 253 «m (2) 373

(3) 374 @@ 4) 47 Tm 45 fafR

8OM el AT Uh TAREHR HUE USA I argl e 19 x 13
AU HYd Udd X HB HrIGET IR § R HYd HdedHal e
qfgdiea el IRt I ek fohdl Tt Jga ?

1 0 2) 8
3) 1 4 4

Hiedeal ITpd el @iefiaeh! St fqam sge 3mea?

#) I AB 9 IW BA & fy=Rw .

§) I AB @ W DC WeR ‘O figd Badm.

%) fag ¢, 0 =nfr B Fwfl fag mea.

(1) ‘&1 e ¥ o1 2) & oMt & IS

)

(3) o, T s F IS (4) ‘9 ot H I
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64.

65.

66.

67.

68.

Find the capacity of a hollow cube whose side is 10 cm.
(Choose two correct options)

(1) 1 litre (2) 1000 cubic cm
(3) 1000 litre (4) 100 ml

Area of a circle is denoted by ‘A’ and radius by ‘7’. Choose the correct statement
from the following that states the correct relation of variation between A and r.

1) A o r (Z)Aoc#
3) Awx L @) A o« 2

Find the correct pair of twin prime numbers from the following in which the
addition of twin prime numbers is more by 44 than the sum of all prime
numbers between 1 to 25.

(1) 71, 73 (2) 41, 83
(3) 59, 6l (4) 41, 43

If the ratio of the measures of angles of LJABCD taken in order is 7:8:4:5.
Find the type of LJABCD.

(1) Kite (2) Rhombus
(3) Trapezium (4) Parallelogram

Find the smallest number from the following such that when it is divided by
every one digit prime number, every time the remainder is 1.

(1) 106 (2) 211
(3) 31 4) 71

SPACE FOR ROUGH WORK
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64.

65.

66.

67.

68.

10 Gt o7 THciedT Tl Wehed TATE1 9Rehdl Tehdl? (W e ™ fast.)
() 1 <= (2) 1000 =&

(3) 1000 wfrex (4) 100 fireft

adem aTws A’ e e fenm Y e, W ‘A et ) wefier daw
Joe g e T

(1) Acr 2) A o« %

3) Ao L @) A o 2

EIIeh! VAT SIS FEAAT SISl SiS & 1 d 25 #ia qeesreA
SN 44 4 e IR 7

(1 71, 73 2) 41, 83
3) 59, 61 4) 41, 43

JABCD =d1 AN hHMA AU oK 7:8:4:5 3@ @ OOABCD =1
YRR SSEl.

(1) v (2) TOYS <

(3) TuAd b (4) THIMYS <hH

TH G F9 Th fehl 3 H&IH WFeA™ Ycdeh dcdl &kl | 3 37eft
g M 9%l Wicileddehl hIvrd] ?

(1) 106 () 211

3) 31 4 7
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69.

70.

71.

72.

Saurabh invested Rs. 5000 for 3 years at rate 10 p.c.p.a. with simple interest.
Yashashri invested same amount for the same period at the same rate of interest
with compound interest. Compare the interests earned by Saurabh and Yashashri.

(Select two correct option)

(1) Interest received by Yashashri was less by Rs. 1655 than Saurabh received.
(2) Interest received by Yashashri was more by Rs. 155 than Saurabh received.
(3) Interest received by Saurabh was more by Rs. 155 than Yashashri received.

(4) Interest received by Saurabh was less by Rs. 155 than Yashashri received.

Which of the following can be the measure of an angle in the minor segment?
(1) 45° (2) 135°
(3) 180° (4) 90°

(4.973 + (2.1
(4.9)2 — (1029 x 1) + 4.41
(1) 0.7 2) 2.8

Find the value of

(3) 28.42 4) 7.0

There is a regular hexagon having each side 14 cm. On every side a semicircle
1s drawn from outside the hexagon, taking each side as the diameter. Find the
perimeter of the figure so formed.

(1) 132 cm (2) 308 cm
(3) 216 cm (4) 123 cm

SPACE FOR ROUGH WORK
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69. HRYH 5000 TF 10% TUH 3 NS TSN Tdad. TN dadi R
e 0H daedTd Gediard! wshdle ST YeddiM Taaci al gUMl [HesTeiedl

N god w0 (G e W fEer)
(1) Iwsfien ERwgen 1655 & = &+ fiesTat.
(2) Iwsfien ERwUen 155 ¥ AN W (HesTdl.

(3) HRYT ImHfivem 155 ¥ AN WEd (W,
(4) TRV Iwsfivem 155 ' oA st firesTal.

70. AYAJBEESIAIA HATE TA GIerdehl hIvId 3T IThd ?

(1) 45° 2) 135°

(3) 180° (4) 90°
L 4oy E4.(9;)03.2; (><2.33+ aar - e

(1) 0.7 2) 2.8

(3) 28.42 4 7.0

72. 14 T 9 EciAd MAMHA SEHRMTE YA WS SAE HM T SISER STeEd

Ngages Heel! T TIR BT SAehoi=l IRt fordt ?
(1) 132 @ (2) 308 @
(3) 216 @+ 4) 123 &
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73.

74.

75.

In the adjoining figure, an isosceles trapezium is drawn. The measurements

of sides of the figure are as follows.
I(QR) = I(PS) = 5 units,

[(PQ) = 5 units, /(PT) = 4 units. Find the area of [LIPQRS.

P 5 Q
5
4
1 []
S T M
(1) 32 units (2) 44 sq. units
(3) 32 sq. units (4) 24 sq. units

Instead of investing Rs. 3000 with simple interest for two and half years, if
Rs. 4000 are invested with simple interest for two years, interest of Rs. 25 is

earned more. What is the rate of interest?
(1) 10% 2) 6%
3) 4% 4) 5%

Read the following statements and choose the correct alternative.

(A) 29, 31 are twin prime numbers.
(B) 29, 31 are co-prime numbers.
(C) 29, 31 are prime numbers.

(1) ‘A, ‘B’, ‘C’ are correct.

(2) Only ‘A’ and ‘C’ are correct.

(3) Only ‘B’ and ‘C’ are correct. (4) Only ‘A’ and ‘B’ are correct.

SPACE FOR ROUGH WORK
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73.

74.

75.

3TEA.
[(QR) = [(PS) = 5 U,
I(PQ) = 5 W&k, [(PT) = 4 Thd @ [OPQRS I &A% fohel?

P 5 Q
5
4
N ]
S - M R
(1) 32 T® (2) 44 =Y. THH
(3) 32 <. UHH (4) 24 =Y. THb

WSS UggdH 3000 ¥ IEE I TdauATUEsit 4000 ¥ g auiEet
TdeedTE 25 %, o W fHedd, @ oA gt fohdt StEw?

(1) 10% (2) 6%
(3) 4% 4) 5%

9@ foum aeg I wE Hael

) 29, 31 A SSHS TEA IATd.
§) 29, 31 A HEHS TN 3.
%) 29, 31 AN YBREHEA ITeq.

(1) ‘3:[7’ ‘a_,, ‘q;7 (2) W ‘3:[7 ﬁ ‘q;7

(3) ®Fd & MU & Ih (4) ®Fd A M T IH
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0111-Marathi Set-A 31 of 32 P.T.O.



THeedT HIHTHTS! Wokd

0111-Marathi Set-A 32 of 32



